
MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)

LINEAR EQUATIONS

Illustrative Examples

1. Solve: 8x = 20 + 3x.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lqANakjoyc7N


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

5

6

7

2. Solve: .

A. 

x + 1 =
2

3

7

3

5

https://dl.doubtnut.com/l/_lqANakjoyc7N
https://dl.doubtnut.com/l/_ZUQgb35PGwhr


B. 

C. 

D. 

Answer: D

Watch Video Solution

4

3

2

3. Solve: .

A. 

B. 

x + x = x − 7
1

4

1

6

−6

6

https://dl.doubtnut.com/l/_ZUQgb35PGwhr
https://dl.doubtnut.com/l/_7WhcD9MqioUT


C. 

D. 

Answer: D

Watch Video Solution

−12

12

4. Solve: 

A. 

B. 

C. 

+ =
y + 6

4

y − 3

5

5y − 4

8

7

6

4

https://dl.doubtnut.com/l/_7WhcD9MqioUT
https://dl.doubtnut.com/l/_qOZCpvTwTeXx


D. 

Answer: D

Watch Video Solution

8

5. Solve: .

A. 

B. 

C. 

D. 

=
3x + 5

2x + 1

1

3

2

−2

1

−1

https://dl.doubtnut.com/l/_qOZCpvTwTeXx
https://dl.doubtnut.com/l/_F3EKYLRqW3lN


Answer: B

Watch Video Solution

6. Solve: .

A. 

B. 

C. 

D. 

Answer: C

=
6x + 7

3x + 2

4x + 5

2x + 3

13

9

−
13

9

−
11

9

11

9

https://dl.doubtnut.com/l/_F3EKYLRqW3lN
https://dl.doubtnut.com/l/_3QprUznnWR3a


Applications Of Linear Equations

Watch Video Solution

1. Two numbers are in the ratio . If the sum

of the number is , find the numbers

A. 

B. 

C. 

D. 

5: 8

182

70, 112

80, 50

90, 110

100, 82

https://dl.doubtnut.com/l/_3QprUznnWR3a
https://dl.doubtnut.com/l/_LsWzY6WDjHm2


Answer: A

Watch Video Solution

2. The sum of the digits of a two-digits number

is 15. If the number formed by reversing the

digits is less than the original number by 27,

find the original number. Check your solution.

Watch Video Solution

https://dl.doubtnut.com/l/_LsWzY6WDjHm2
https://dl.doubtnut.com/l/_xHxNVNpk4R17


3. the denominator of a rational number is

greater than its numerator by . If  is

subtracted from the numerator and  is added

to its denominator, the new number becomes

. Find the original number. Check your

solution.

A. 

B. 

C. 

D. 

3 3

2

1

5

5

8

3

8

7

8

9

8

https://dl.doubtnut.com/l/_sNW4CIZOoB7z


Answer: A

Watch Video Solution

4. The length of a
 rectangle exceeds its

breadth by  cm. If length and breadth are

each
 increased by  cm. the area of the new

rectangle will be 
more than that of the

given rectangle. Find the length and breadth

of the given rectangle.

A. 

9

3

84cm2

= 18cm

https://dl.doubtnut.com/l/_sNW4CIZOoB7z
https://dl.doubtnut.com/l/_LSkoGgPiSVXr


B. 

C. 

D. 

Answer: C

Watch Video Solution

= 10cm

= 8cm

= 6cm

5. A steamer goes downstream and covers

distance between two ports in  hours, while it

covers the same distance upstream in  hours.

4

5

https://dl.doubtnut.com/l/_LSkoGgPiSVXr
https://dl.doubtnut.com/l/_njmTgcCrsdqw


If the speed of the stream is , then find

the speed of the streamer in still water.

A. 26 Km/hr

B. 37 Km/hr

C. 18 Km/hr

D. 9 Km/hr

Answer: C

Watch Video Solution

2k
m

h

https://dl.doubtnut.com/l/_njmTgcCrsdqw


6. The distance between two stations is 425

km. Two trains start simultaneously from these

stations on parallel tracks to cross each other.

The speed of one of them is greaten than that

of the other by 5 km/h. If the distance between

the two trains after 3 hours of their start is 20

km, find the speed of each train. Check your

solution.

Watch Video Solution

https://dl.doubtnut.com/l/_welpR6tYuES5


7. Two years ago, father was  times as old as

his son and two years hence, twice his age will

be equal to five times that of his son's age

.Find their present ages.

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

3

14 38

12 36

14 32

12 38

https://dl.doubtnut.com/l/_Wv0QRccEYZcZ


Exercise 8 A

Watch Video Solution

1. 

Watch Video Solution

8x + 3 = 27 + 2x

2. 

Watch Video Solution

5x + 7 = 2x − 8

https://dl.doubtnut.com/l/_Wv0QRccEYZcZ
https://dl.doubtnut.com/l/_Vwd56XotftV6
https://dl.doubtnut.com/l/_BhO68FHepUGt


3. solve 

Watch Video Solution

2z − 1 = 14 − z

4. Solve 

A. 

B. 

C. 

D. 

9x + 5 = 4(x − 2) + 8

−1

−2

1

2

https://dl.doubtnut.com/l/_O3MHqiFeVm8M
https://dl.doubtnut.com/l/_yTbXVV3Relle


Answer: A

Watch Video Solution

5. 

A. 

B. 

C. 

D. 

Answer: B

= y − 4
7y

5

10

−10

20

−20

https://dl.doubtnut.com/l/_yTbXVV3Relle
https://dl.doubtnut.com/l/_3tejEhKaFJAi


Watch Video Solution

6. Solve 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + = 2x + 1
2

3

1

4

1

3

1

5

1

7

https://dl.doubtnut.com/l/_3tejEhKaFJAi
https://dl.doubtnut.com/l/_btiX2I44VtIb


7. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15(y − 4) − 2(y − 9) + 5(y + 6) = 0

2

3

4

3

5

3

7

3

https://dl.doubtnut.com/l/_btiX2I44VtIb
https://dl.doubtnut.com/l/_BrQ9MmFcd2Fs


8. solve

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3(5x − 7) − 2(9x − 11) = 4(8x − 13) − 17

1

2

3

4

https://dl.doubtnut.com/l/_s4FdjmeRobA7
https://dl.doubtnut.com/l/_RkwtMQm8UeSO


9. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− =
x − 5

2

x − 3

5

1

2

7

9

8

7

10. − = − t
3t − 2

4

2t + 3

3

2

3

https://dl.doubtnut.com/l/_RkwtMQm8UeSO
https://dl.doubtnut.com/l/_AjZM5BdhqZhH


Watch Video Solution

11. 

A. 1

B. -1

C. 2

D. -2

Answer: B

Watch Video Solution

− = − 5
2x + 7

5

3x + 11

2

2x + 8

3

https://dl.doubtnut.com/l/_AjZM5BdhqZhH
https://dl.doubtnut.com/l/_lGQpbzT0bcdx


12. solve 

Watch Video Solution

= 4x + 1 −
5x − 4

6

3x + 10

2

13. 

Watch Video Solution

5x − (x + 1) = 6(x + )
1

3

1

30

14. 

Watch Video Solution

4 − = (2z + 5)
2(z − 4)

3

1

2

https://dl.doubtnut.com/l/_QHGi0qJNwQew
https://dl.doubtnut.com/l/_lfd7NF1HVBXQ
https://dl.doubtnut.com/l/_S7vSgh4L41vt


15. 

Watch Video Solution

− 4y = 3 −
3(y − 5)

4

y − 3

2

16. 

Watch Video Solution

= 2
8x − 3

3x

17. 

Watch Video Solution

= 15
9x

7 − 6x

https://dl.doubtnut.com/l/_UwJyYSBy8rNm
https://dl.doubtnut.com/l/_DJpJHmHHYxC6
https://dl.doubtnut.com/l/_nZeYeDSX2t5l


18. 

Watch Video Solution

= − 4
3x

5x + 2

19. 

Watch Video Solution

=
6y − 5

2y

7

9

20. 

Watch Video Solution

=
2 − 9z

17 − 4z

4

5

https://dl.doubtnut.com/l/_zPYqEDq4IpEa
https://dl.doubtnut.com/l/_o3iKXYFYZMMP
https://dl.doubtnut.com/l/_YqKV56XVoenK


21. 

A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

=
4x + 7

9 − 3x

1

4

−3

0

2

−1

D

https://dl.doubtnut.com/l/_mzJ0B9ehUrOO


22. 

Watch Video Solution

=
7Y + 4

Y + 2

−4

3

23. 

Watch Video Solution

= 10
15(2 − y) − 5(y + 6)

1 − 3y

24. 

Watch Video Solution

=
2x − (7 − 5x)

9x − (3 + 4x)

7

6

https://dl.doubtnut.com/l/_jBp9SG5ijkib
https://dl.doubtnut.com/l/_3YSrQWoUBp2H
https://dl.doubtnut.com/l/_a2JaHJQcJOTG


25. 

Watch Video Solution

m − = 1 −
m − 1

2

m − 2

3

26. 

A. 

B. 

C. 

D. 

=
3x + 5

4x + 2

3x + 4

4x + 7

27

19

−
27

19

−
19

27

19

27

https://dl.doubtnut.com/l/_dtz4LZmANQRb
https://dl.doubtnut.com/l/_2AOFKMuKP3yc


Answer: B

Watch Video Solution

27. then, 

Watch Video Solution

=
9x − 7

3x + 5

3x − 4

x + 6
x = ?

28. 

Watch Video Solution

=
2 − 7x

1 − 5x

3 + 7x

4 + 5x

https://dl.doubtnut.com/l/_2AOFKMuKP3yc
https://dl.doubtnut.com/l/_VHKAGrXYGljE
https://dl.doubtnut.com/l/_xyGrlQthDNXm


Exercise 8 B

1. Two numbers are in the ratio . If the sum

of the number is 143, find the smaller number.

A. 104

B. 84

C. 39

D. 40

Answer: C

Watch Video Solution

8: 3

https://dl.doubtnut.com/l/_uzj52kPi8uhh


2.  of a number is 20 less than the original

number. Find the number.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

40

50

60

70

https://dl.doubtnut.com/l/_uzj52kPi8uhh
https://dl.doubtnut.com/l/_eXK7FSu00Gct


3. Four-fifths of a number is 10 more than two-

thirds of the number. Find the number.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25

35

45

75

https://dl.doubtnut.com/l/_NRT3MpG7lVEs
https://dl.doubtnut.com/l/_I9H7ixZI72tM


4. Twenty-four is divided into two parts such

that  times the first part added to  times the

second part makes . Find each part.

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

7 5

146

10, 14

13, 11

12, 12

https://dl.doubtnut.com/l/_I9H7ixZI72tM
https://dl.doubtnut.com/l/_d4lD8IrnTp98


5. A number whose fifth
part increased by 5 is

equal to its fourth part diminished by 5. Find

the
number.

A. 200

B. 300

C. 400

D. 500

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_d4lD8IrnTp98


6. Three numbers are in the ratio of . If

the sum of the largest and the smallest equals

the sum of the third and 55, find the numbers.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(4: 5: 6)

33, 44, 55

44, 55, 66

55, 66, 77

66, 77, 88

https://dl.doubtnut.com/l/_LOzHKNfx76Py


7. If  be added to four times a certain

number, the result is  less than five times the

number. Find the number.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10

5

25

15

16

18

https://dl.doubtnut.com/l/_eiynHctFchX4


8. Two numbers are such
 that the ratio

between them is . If each is increased by 

, the ratio
 between the new numbers so

formed is . Find the original numbers.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3: 5 10

5: 7

10, 15

15, 25

9, 15

20, 35

https://dl.doubtnut.com/l/_WNEiGkifKYw9


9. Find three consecutive odd numbers whose

sum is 147.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

41, 43, 45

45, 47, 49

47, 49, 51

49, 51, 53

https://dl.doubtnut.com/l/_WNEiGkifKYw9
https://dl.doubtnut.com/l/_xHjZNhzsLmPh


10. Find three consecutive even numbers

whose sum is .

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

234

76, 78, 80

80, 82, 84

74, 76, 78

https://dl.doubtnut.com/l/_xHjZNhzsLmPh
https://dl.doubtnut.com/l/_8BK57MzqGSCH


11. The sum of the digits of a two-digits

number is 12. If the number formed by

reversing the digits is less than the original

number by 54, find the original number.

A. 29

B. 39

C. 92

D. 93

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7EPQAEwCQMIz


12. The digit in the tens place of a two-digit

number is three times that in the units place.

If the digits are reversed, the new number will

be 36 less than the original number. Find the

original number number. Check your solution.

Watch Video Solution

13. The denominator of a rational number is

greater than its numerator by 7. If the

https://dl.doubtnut.com/l/_7EPQAEwCQMIz
https://dl.doubtnut.com/l/_bWZ25LKb0zRS
https://dl.doubtnut.com/l/_2GzeTRIKfBMP


numerator is increased by 17 and the

denominator decreased by 6, the new number

becomes 2. Find the original number.

Watch Video Solution

14. In a fraction, twice the numerator is 2 more

than the denominator. If 3 is added to the

numerator and to the denominator, the new

fraction is . Find the original fraction.

A. 

2

3

5

12

https://dl.doubtnut.com/l/_2GzeTRIKfBMP
https://dl.doubtnut.com/l/_rolryyzoDRfb


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

7

12

3

12

15. The length of a rectangle exceeds its

breadth by 7 cm. If the length is decreased by

4 cm , and the breadth is increased by 3 cm,

the area of the new rectangle is the same as

https://dl.doubtnut.com/l/_rolryyzoDRfb
https://dl.doubtnut.com/l/_LYMb0DRo9QPn


the area of the original ractangle. Find the

length and breadth of the original rectangle.

Watch Video Solution

16. The width of a rectangle is two-thirds its

length. If the perimeter is 180 metres, find the

dimensions of the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_LYMb0DRo9QPn
https://dl.doubtnut.com/l/_VyRPXbfcZtmT


17. An altitude of a triangle is five-third the

length of its corresponding base. If the

altitude be increased by 4 cm and the base

decreased by 2 cm, the area of the triangle

remains the same. Find the base and the

altitude of the triangle.

Watch Video Solution

18. Two angles of a triangle are in the ratio

. If the sum of these angles is equal to(4: 5)

https://dl.doubtnut.com/l/_EdibOZoFzSXU
https://dl.doubtnut.com/l/_JtSJ5mKpDJZw


the third angle, find the smaller angle of the

triangle.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

40∘

50∘

60∘

65∘

https://dl.doubtnut.com/l/_JtSJ5mKpDJZw


19. A steamer goes
 downstream from one

point to another in 9 hours. IF covers the same

distance
upstream in 10 hours. If the speed of

the stream be 1 km/hr, find the speed
 of the

steamer in still water and the distance

between the ports.

Watch Video Solution

20. The distance between two stations is 300

km. Two motorcyclists start simultaneously

https://dl.doubtnut.com/l/_DXh4DUGgyceO
https://dl.doubtnut.com/l/_jEBfatQS5UNv


from these stations and move towards each

other. The speed of one of them is 7 km/h

more than that of the other. If the distance

between them after 2 hours of their start is 34

km. Find the speed of each motorcyclist. Check

your solution.

Watch Video Solution

21. Divide  into three parts such that the

second number is five-sixths the first and the

150

https://dl.doubtnut.com/l/_jEBfatQS5UNv
https://dl.doubtnut.com/l/_vhyaIA3JWe3c


third number is four-fifths the second. Find

the largest part.

A. 60

B. 50

C. 40

D. 55

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vhyaIA3JWe3c


22. Divide 4500 into two parts such that 

of the first part is equal to  of the second

part

Watch Video Solution

5%

10%

23. Rakhi's mother is four times as old as

Rakhi. After  years, her mother will be three

times as old as she will be then. Find their

present ages.

A. 

5

40, 20

https://dl.doubtnut.com/l/_wq3CBc4rj1PL
https://dl.doubtnut.com/l/_WYq7VEi7C9Es


B. 

C. 

D. 

Answer: C

Watch Video Solution

50, 15

40, 10

45, 10

24. Baichungs father is 26 years younger than

Baichungs grandfather and 29 years older

than Baichung. The sum of the ages of all the

https://dl.doubtnut.com/l/_WYq7VEi7C9Es
https://dl.doubtnut.com/l/_zq7NiEIbIsh5


three is 135 years. What is the age of each one

of them?

Watch Video Solution

25. A man is  times older than his grandson.

He is also  years older than him. Find the

present age of the man.

A. 60 years

B. 65 years

C. 70 years

10

54

https://dl.doubtnut.com/l/_zq7NiEIbIsh5
https://dl.doubtnut.com/l/_oPM5F3zT1DUA


D. 80 years

Answer: A

Watch Video Solution

26. The difference between the ages of two

cousins is  years.  years ago, if the elder

one was twice as old as the younger one, find

their present ages.

A.  and 

10 15

15 25

https://dl.doubtnut.com/l/_oPM5F3zT1DUA
https://dl.doubtnut.com/l/_M5zSd6UGEyS7


B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

25 35

20 30

10 20

27. Half of a herd of deer are grazing in the

field and
 three fourths of the remaining are

playing nearby. The rest 9 are drinking
 water

https://dl.doubtnut.com/l/_M5zSd6UGEyS7
https://dl.doubtnut.com/l/_J8GO8bBokfwa


Exercise 8 C

from the pond. Find the number of deer in the

herd.

A. 45

B. 54

C. 27

D. 72

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_J8GO8bBokfwa


1. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3 = x + 2 x = ?

1

3

5

7

https://dl.doubtnut.com/l/_2J18x51V7EFA


2. Solve 5x
+ \frac{7}{2} = \frac{3}{2}x - 14

5

6

Answer:

Watch Video Solution

−5

−6

3. If , then

A. 40

z = (z + 10)
4

5
z = ?

https://dl.doubtnut.com/l/_6LlLBMu9IDFZ
https://dl.doubtnut.com/l/_tCmkCporACQB


B. 20

C. 10

D. 60

Answer:

Watch Video Solution

4. If , then 

A. 

B. 

3m = 5m −
8

5
m = ?

2

5

3

5

https://dl.doubtnut.com/l/_tCmkCporACQB
https://dl.doubtnut.com/l/_PQ1fhk5SVL3K


C. 

D. 

Answer:

Watch Video Solution

4

5

1

5

5. If , then 

A. 1

B. 

C. 2

5t − 3 = 3t − 5 t = ?

−1

https://dl.doubtnut.com/l/_PQ1fhk5SVL3K
https://dl.doubtnut.com/l/_Sf905YgIg8Oi


D. 

Answer:

Watch Video Solution

−2

6. If  then 

A. 1

B. 

C. 

D. 

2y + = − y
5

3

26

3
y = ?

2

3

6

5

7

3

https://dl.doubtnut.com/l/_Sf905YgIg8Oi
https://dl.doubtnut.com/l/_TS2ytrgxoGUe


Answer:

Watch Video Solution

7. If , then 

A. 1

B. 

C. 3

D. 

Answer:

+ 1 =
6x + 1

3

x − 3

6
x = ?

−1

−3

https://dl.doubtnut.com/l/_TS2ytrgxoGUe
https://dl.doubtnut.com/l/_9xuasGURTfHu


Watch Video Solution

8. If , then 

A. 30

B. 42

C. 36

D. 28

Answer:

Watch Video Solution

− + = 21
n

2

3n

4

5n

6
n = ?

https://dl.doubtnut.com/l/_9xuasGURTfHu
https://dl.doubtnut.com/l/_RDYIaVo5VP4z


9. If , then 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

=
x + 1

2x + 3

3

8
x = ?

1

4

1

3

1

6

1

2

https://dl.doubtnut.com/l/_RDYIaVo5VP4z
https://dl.doubtnut.com/l/_H9XGj9n4qTIQ


10. If , then 

A. 4

B. 6

C. 8

D. 12

Answer:

Watch Video Solution

=
4x + 8

5x + 8

5

6
x = ?

https://dl.doubtnut.com/l/_2UL7Cuig2Cyw


11. If , then 

A. 4

B. 6

C. 9

D. 12

Answer:

Watch Video Solution

=
n

n + 15

4

9
n = ?

https://dl.doubtnut.com/l/_0H2jcbhNw80I


12. If , then 

A. 

B. 2

C. 

D. 3

Answer:

Watch Video Solution

3(t − 3) = 5(2t + 1) t = ?

−2

−3

https://dl.doubtnut.com/l/_w5uFRr0IEbOy


13. Four-fifths of a number is greater than

three-fourths of the number by 4. The number

is

A. 12

B. 64

C. 80

D. 102

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_F1vr2IiAjQDB


14. The ages of A and B are in the ratio .

Five years from now the ratio of their ages will

be . The present age of B is

A. 20 years

B. 28 years

C. 15 years

D. 21 years

Answer:

Watch Video Solution

3: 7

1: 2

https://dl.doubtnut.com/l/_dbP3QRbAQjfv


15. The base of an isosceles triangle is 6 cm

and its perimeter is 16 cm. Length of each of

the equal sides is

A. 4 cm

B. 5 cm

C. 3 cm

D. 6 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ldH4WudkjUxJ


16. Sum of three consecutive integers is 51. The

middle one is

A. 14

B. 15

C. 16

D. 17

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bgM8BTKJHONT
https://dl.doubtnut.com/l/_HvFe7RsTbd7L


17. The sum of two numbers is 95. If one

exceeds the other by 15, then the smaller of

the two is

A. 40

B. 35

C. 45

D. 55

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HvFe7RsTbd7L
https://dl.doubtnut.com/l/_KZuq76h6iNTN


18. The number of boys and girls in a class are

in the
ratio 7:5. The number of boys is 8 more

than the number of girls. What is the
 total

class strength?

A. 56

B. 52

C. 45

D. 36

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KZuq76h6iNTN


Test Paper 8 A

1. Subtract  from 

.

Watch Video Solution

4a2 + 5b2 − 6c2 + 8

2a2 − 3b2 − 4c2 − 5

2. Find each of the following products: 

(i)  


(ii) 

(4a + 5b) × (5a − 6b)

(6x2 − x + 8) × (x2 − 3)

https://dl.doubtnut.com/l/_KZuq76h6iNTN
https://dl.doubtnut.com/l/_ejROfk4BLlIA
https://dl.doubtnut.com/l/_LBWXajjiId2q


Watch Video Solution

3. 

Watch Video Solution

5a3 − 4a2 + 3a + 18

a2 − 2a + 3

4. If , find the value of (i) 

, (ii) 

Watch Video Solution

(x − ) = 4
1

x

(x2 − )
1

x2
(x4 + ).

1

x4

https://dl.doubtnut.com/l/_LBWXajjiId2q
https://dl.doubtnut.com/l/_8kv1zUWOfOYb
https://dl.doubtnut.com/l/_oV9eqW0Lwtef


5. Evaluate .

Watch Video Solution

{(83)2 − (17)2}

6. Factorise: 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

x3 − 3x2 + x − 3

63x2y2 − 7

1 − 6x + 9x2

7x2 − 19x − 6

https://dl.doubtnut.com/l/_RVvYEfNVkJeH
https://dl.doubtnut.com/l/_mvlgAg4LcqwI
https://dl.doubtnut.com/l/_2rmxQD3FhhBe


Test Paper 8 B

7. Solve: .

Watch Video Solution

=
2x + 7

3x + 5

15

17

1. 5 years ago a man was 7 times as old as his

son. After 5 years he will be thrice as old as his

son. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_2rmxQD3FhhBe
https://dl.doubtnut.com/l/_h3KBH66Guwym
https://dl.doubtnut.com/l/_Ah3B4Ti6exVK


2. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ab − a − b + 1 = ?

(1 − a)(1 − b)

(1 − a)(b − 1)

(a − 1)(b − 1)

(a − 1)(1 − b)

3. 3 + 23x − 8x2 = ?

https://dl.doubtnut.com/l/_Ah3B4Ti6exVK
https://dl.doubtnut.com/l/_bY3EFDvPyX0t


A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

(1 − 8x)(3 + x)

(1 + 8x)(3 + x)

(1 − 8x)(3 − x)

4. 

A. 

7x2 − 19x − 6 = ?

(x − 3)(7x + 2)

https://dl.doubtnut.com/l/_bY3EFDvPyX0t
https://dl.doubtnut.com/l/_K2fX2NcDTNLN


B. 

C. 

D. 

Answer:

Watch Video Solution

(x + 3)(7x − 2)

(x − 3)(7x − 2)

(7x − 3)(x + 2)

5. 

A. 

B. 

12x2 + 60x + 75 = ?

(2x + 5)(6x + 5)

(3x + 5)2

https://dl.doubtnut.com/l/_K2fX2NcDTNLN
https://dl.doubtnut.com/l/_YkwkmkVkz9Dy


C. 

D. none of these

Answer:

Watch Video Solution

3(2x + 5)2

6. 

A. 

B. 

C. 

10p2 + 11p + 3 = ?

(2p + 3)(5p + 1)

(5p + 3)(2p + 1)

(5p − 3)(2p − 1)

https://dl.doubtnut.com/l/_YkwkmkVkz9Dy
https://dl.doubtnut.com/l/_0zd0o3Ibhdfd


D. none of these

Answer:

Watch Video Solution

7. 

A. 

B. 

C. 

D. none of these

8x3 − 2x = ?

(4x − 1)(2x − 1)x

(2x2 + 1)(2x − 1)

2x(2x − 1)(2x + 1)

https://dl.doubtnut.com/l/_0zd0o3Ibhdfd
https://dl.doubtnut.com/l/_w56gYJNCIiOT


Answer:

Watch Video Solution

8. 

A. 

B. 

C. 

D. 

Answer:

+ =
x + 5

2

x − 5

3

25

6

x = 3

x = 4

x = 5

x = 2

https://dl.doubtnut.com/l/_w56gYJNCIiOT
https://dl.doubtnut.com/l/_6Jg9OpaXvdf8


Test Paper 8 C Fill In The Blanks

Watch Video Solution

1. Factorize 

 (…….) 

 (…….)(…….)(……..) 


 (……..)(………) 


 (……..)(………)


 (……..)(………)

Watch Video Solution

x2 − 18x + 81 =

4 − 36x2 =

x2 − 14x + 13 =

9z2 − x2 − 4y2 + 4xy =

abc − ab − c + 1 =

https://dl.doubtnut.com/l/_6Jg9OpaXvdf8
https://dl.doubtnut.com/l/_RkSjrv61Y0Jx


Test Paper 8 D Write T For True And F For False

For Each Of The Following

1. Write 'T' for true and 'F' for false for each of

the following:

(i)  is a binomial. 


(ii)  is a monomial.


(iii)(5a - 9b) - (-6a + 2b) = (-a -7b)

(iv)When x = 2 and y = 1, the value of

. 


(5 − 3x2)

−8

x3y4is
−8

7

−64

7

https://dl.doubtnut.com/l/_RkSjrv61Y0Jx
https://dl.doubtnut.com/l/_CMRwb0laVZ7A


(v) . 


(vi) .

Watch Video Solution

+ − = ⇒ x = − 9
x

4

x

6

x

2

3

4

2x − 5 = 0 ⇒ x =
2

5

https://dl.doubtnut.com/l/_CMRwb0laVZ7A

